DUNCAN MODEL EA 1029-6L !

BODY PARTS

REF. PART
NO. NO. DESCRIFTION
KE 304 ¢48-32 x W/4' Machine Screw
KC 018 Fiber Lid w/Band .
KGC 048 Collar Case w/Clamps
KC 082 Case wiclamps
KC 006 Fiber Sottom
KE 045 Case Clamp
KP 303 Base Plale
KC 070 Stand wiFeet
KE 030 Stand Feet
10. KP 0R8 820, 10XW29 Heat Shisid
11, KP 024 Coilar Heat Shieid
12. KC 050 1020 Control Panel Sheil
13. KA 1683 EA Pilot Light
14, KC 222 Hinge Pivot Kit
15. KA 118 1020/20 Heanh Plate (EA only)
18. KM 02 Pal Nut
17. I\ 319 Swilch Knob, White
18. KM 208 Kin-Sitter w/Safety Timer
19. KM 333 1020/29 Power Supply Cord
0. KE 343 1020/29 Cord Strain Relie!
21. KEJOR #8x 1* Shesat Metal Screw
KE JO1 #8 x 1/2° Sheetl Metal Scraw
KA 030 Peephoie Plug
KE 000 Handie
WE 104 1029/29 Lid Chain
KC 338 Ud Chain Mounting Plate Kt
KC 203 Right Hinge w/Pivot
KC 213 Lef Hinge w/Pivot
KB 003 Grooved Brick
B 013 Terminal Brick
KB 023 Peephole Brick
KB 043 Hait Brick
KB 083 Kiin-Sitter Brick
KE 098 2 Pole Terminal Strip
KM 324 Power Relay
KM 32% 4300 Fixed interval Timer
KM 3268 4800 Repeat Cycie Timer
KE 307 #8-32 x 1 1/4° Machine Screw
KC 138 14° Conneciing Wire, 12 Gauge
KC 130 9 Connecting Wire, 12 Gauge
KE J28 4832 Nut wil.ock Washer
KC 188  10* Connecting Wire, 16 Gauge
KM 201 infinite Switch wPai Nut 208V
1%, 4 Wike Comdo, 16 Gauge
KC 172 9,8, 4, 8 Wie Combo, 18 Gauge
KC 173 6, 4 Wire Combo, 18 Gauge
KC 177 ¢° Connecling Yira, 12 Gauge
KM 383 4" Fibergiass Sieeving
KC 300 Standard Buse Bar Assembly
KC 319 U-Terminal Assembily
KE 060 insulator
KM 81 3 Position Switen
KA 031 Ud Vert Hole Plug
KC 180 20" Connecting Wire , 12 Gauge
KE 220 10028 Bement (220V)
‘KE 303 #68 x 1/2° Sheet Metal Screw
KEJ11 #10-32 x /8’ Machine Screw
KC 179 18* Connecting Wire, 12 Gauge
KE 314 #6-22 x 1/2° Machine Screw
WE X221 #10 Star Waasher
KE 322 ¢8 Star Washer
KC 445 15" Connecting Wire, 18 Gauge
KC 182 8° Connecling Wirs, 12 Gauge
KE 332 #10-32 Hex Nut
KE 32 #6-32 Hex Nut
KE 341 1/8° Standoft

CRNOU RPN -

ABRRLRABEURPRPR B NEREPAEBRSAPYERZBYURNERYHN
&
*

DUNCAN CERAMICS DISTRIBUTOR

LX 436



